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                                                                                                                                              (Μονάδες 13) 

β) Για κάθε α 0  και 1  ,  

i. Να δείξετε ότι Κ 0 . 

                                                                                                                                                (Μονάδες 6) 

ii. Να βρείτε την τιμή του   για την οποία ισχύει η ισότητα Κ(Κ 2) 0  . 

                                                                                                                                                (Μονάδες 6)            

 


